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£¤Ì· 1Ô:
¢›ÓÔÓÙ·È: , S2=2,25 Î·È 

i) ¢Â›ÍÙÂ fiÙÈ S2= ™fixi
2 -

ii) ¡· Û˘ÌÏËÚˆıÂ› Ô ›Ó·Î·˜

i)

ii)

1,00        2f3+3f3+1,125   4f3+9f4+4,125

∞fi ÙËÓ Ï‡ÛË ÙÔ˘ Û˘ÛÙ‹Ì·ÙÔ˜ ÙˆÓ ÂÍÈÛÒÛÂˆÓ (1) Î·È (2)
Ï·Ì‚¿ÓÔ˘ÌÂ:

3f4=0,375 ¿Ú· f4=0,125 Î·È f3=0,250.

£¤Ì· 2Ô:

¢›ÓÔÓÙ·È: S2=2,25 Î·È 

i)¢Â›ÍÙÂ fiÙÈ: 

ii) ¡· Û˘ÌÏËÚˆıÂ› Ô ›Ó·Î·˜.
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∞fi ÙË Ï‡ÛË ÙÔ˘ (™) ÙˆÓ ÂÍÈÛÒÛÂˆÓ (1) Î·È (2)
Ï·Ì‚¿ÓÔ˘ÌÂ:

x3=2, , Î·È x2=1.

ÕÚ·  x2=1, x3=2.
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S2= ™ÓÈxi
2

v  - x2

x2+2x3=5  (1)

x2= ™vixi
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-4f3-6f4= -1,750
4f3+9f4=2,125

2f3+3f4=0,875
4f3+2f4=2,125

⇔ 4 f3 + 9f4 = 2,125  (2)

S2=™fixi
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x= fixi™
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∞¶∞¡∆∏™∏ ™∆√ 1√ £∂ª∞

xi fi

0          0,250

1          0,125

2

3

4           0,250

xi fi fi xi fi xi
2

0         0,250           0                   0

1         0,125            0,125          0,125

2        f3=                2f3 4f3

3        f4 3f4 9f4

4       0,250            1                    4

xi ·Ú. ·È‰ÈÒÓ             vi ÔÈÎÔÁ¤ÓÂÈÂ˜

0                                  10

5

10

3                                    5

4                                  10
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xi vi vixi xi
2 vixi

2

0          0          0          0            0

x2 5         5x2 x2
2 5x2

2

x3 10       10x3 x3
2 10x3

2

3         5         15         9            45

4        10        40       16         160  


